Sanity-Check for WIND.nc

Var: WIND
WIND min WIND max
[fin: 3.61e-02 ’ A [#n: 2.27e+00
400 max: 3.44e+b 3 ' 400 qmax: 3.82e
mean: 6.19é§'—§%‘ mean: 1.02& 16
Jstd: 2.93e-01 Jstd: 2.63e+00
350 q_2: 1.97e-01 1.2 350 q_2: 5.85e+00
q_50:5.67e-01 q_50:9.92e+00 ¢ L 14
300 q_98: 1.37e+00%:, 10 300 1q_98: 1.66e+01"Y
250 250 15
- 0.8
200 200
- 10
150 - - 0.6 150 1
100 ¢ 0.4 100 1 8
50 50 1%,
" : 7 0.2 & 6
0 s 3 ~ A T 0 r - "
0 100 200 300 400 0 100 200 300 400
WIND mean WIND mean - distribution
min: 8.80e-01 3
400 qmax: 1.14e 10° 1
mean: 4.11& 6.0
350 std: 1.06e+00
g_2: 2.16e+00 - 5.5
300 {a708: 62801003 ¢
g_98: 6.28e+ i : L5 0 9
F. £
250 - i 3 - 4.5 =
200 1 40 S
G
150 1 - 3.5 %
100 A 3.0
- 102 ]
50 - 2.5 1
0




